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Worksheef& Numerals and words

\'\) Two thousand, five
" hundred and sixfy-three

= — "
\“‘> One thousand, three hundred
L anhd thirteen

. Five thousand, one hundred K
/" and eleven

. Eightythousand, eight
" hundred and eighty-eight
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_ Seven thousand and eight
y " hundred
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9 Write the missing numbers.
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Il (a) 765=700+| 1+5

(b) 3298 = 3000 +{ |+90+8
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\; (c) 5061=(  +60+1
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(d) 4309 = 4000 + 300 + ‘1

\\ (e) 6714 = 6000 +| )+ 10 + 4 -
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(f) 8354 = l+300 + 50 + 4

'l () 7162 = 7000 + Y+ 602
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{ \ (h) 9804 = | '+ 800 + 4 / \; C’i,/
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Workshee’rQ Ordering

€D Arrange the numbers in order. Begin with the smallest.
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(a) In 4831, the digit 8 is in the i_\ ) place. WD
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jl Its value is | ' *i‘ﬂi

N, (b) In 3603, the digit | | is in the hundreds place. \

Its value is| [ _ -
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/t (c) In7258, the digit 5 is in the | ' place.
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Its value is | L
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(e) In 8024, the digit 8 is in the | | place. %‘vil
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Its value is | | e
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(f) In 5923, the digit fq is in the thousands S

"4 \

place. Its value is |

“‘:% ‘-1}
,'"I;'.
== " ..
> = L
s - %
>*<‘Y
-4 - '}-




